Klasse N, 1.Durchgang

Board 1: 4 Anschriften

Board 2: 4 Anschriften

N/S | PktNS | Score | PktOW | O/W | N/S | PktNS | Score | PKtOW | O/W |
8 10/ 50 3v -1 8  20[100 a0 o J1sa | 2
2 60430 3A | [+ 2 60630 008 (s [2ax | [+2
5|  4.0/420 . 4a = 5| 40110 200 7ls [3a =
4 10 -0 50 3N [3s 4 ool 110 eol 3w [2v | = |
Board 3: 4 Anschriften Board 4: 4 Anschriften
N/S | PkNS | Score | PKtOW | O/W | N/S | PktNS | Score | PktOW | O/W |
8| 60 -600 0o o asa | = 8 50680 10 ds [sv [+
2| 40| -e0] 20/ B0 [3sA | [+2 2| o00|620 av| =
5 10 690 50/ 7o [4sa |42 5/ 50680 5v [+
4 10 690 500 3w [3sA | [+3 4| 20/650 4w |+
Board 5: 4 Anschriften Board 6: 4 Anschriften
N/S | PKINS | Score | PktOW | OW | N/S | PKINS | Score | PktOW | O/W |
5/ 10/ -100 50 4N [3a |4 5/ 60 50 00/ 4/s |2v 1
8| 10/ -100 502N [4a |4 8 10/ -150 50 2/s |4v 3
3| 60680 007N [4a [+2 3| 40/ 100 200 7s [av 2
6 40170 2000 AN [3a] [+ 6/ 10/ -150 50 dls [3sa | |3
| BoardT:4Anschriffen | | Board8:4Anschriften
N/S | PktNS | Score | PKtOW | O/W | N/S | PktNS | Score
5/ 00170 3v [+ 5/ 30| 00 3sA | |
8 4.0/400 4a |4 8 30| -400] 3sA =
3 2.0/200 v |42 3 00| -430 3sA +1
6/  6.0/620 0.0 -|_ avl = 1 | e 3
Board 9: 4 Anschriften Board 10: 4 Anschriften
N/S | PkINS | Score N/S | PkiNS | Score | PktOW | O/W |
7| 40| -660 35A | |+2 7| 20[100 a0l 2/o |5 1
6| 40 -660 3sA | [+2 6 40500 200 8o |4sa | |5
8 00 -6%] . 35A | [+3 8 00 -100 60[ 8N [av 1
4| 40| 660 200 o [asa | [+2 4| 6.0/790 00 ds Javx | [z

Board 11: 4 Anschriften Board 12: 4 Anschriften
N/S | PkNS | Score | PktOW | O/W | N/S | PkiNS | Score | PktOW | O/W |
7| 40450 202N [4a 41 7. oo -0 6ol 20 [3v =
6|  4.0/450 200 B[s [4a [+1 6  6.0/600 00 Bls [ssA | |=
8 o.oH3oo 6.0’-‘W ™2 8 4.0H 100 2.0’-‘w 24 2
4 4olsso | 200N [as| [+t | [ 4]  20] 00|  4ofFHIN [3sa | [ |
Board 13: 4 Anschriften Board 14: 4 Anschriften
N/S | PKINS | Score | PktOW | O/W | N/S | PktNS | Score | PktOW | O/W
1 10/ 200 5ol 8ls [54 |2 1 10/ -50 . 6a |-
7 50/ -100] 100 8[s [4a |1 7 10/ 50 6a |1
4 50/ -100] 100 8[s (44 | 4 5.0(450 . 56 |=
EERE 35508 EDNE 335
Board 15: 4 Anschriften Board 16: 4 Anschriften
N/S | PktNS | Score | PKtOW | O/W | N/S | PktNS | Score
1 40/ -120 2008w 2sa | = 1 50/ -680 40 |32
7 10/ -400 5o 8w [3sa | [= | 7 10| -1430 6a |=
4 6.0/50 00 8o [asa | |1 | 4/ 10| -1430 6a |
5/ 10/ 400 5o 2o [asa | [= | 5/ 50 -680 4a |42
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Klasse N, 1.Durchgang

_— . e e
Board 19: 4 Anschriften

Board 17: 4 Anschriften Board 18: 4 Anschriften
N/S | PktNS | Score | PktOW | O/W | N/S | PktNS | Score | PKtOW | O/W |
6 5.0/420 4a = 6 1.0/ -140 2v [+
2 00 -100 6e -2 2 5.0/50 4o |-
1 5.0 (420 . 4a |z 1 10 - . 24 |+
5/ 20/ 0 40 BN [4a [ 5/ 5050 1008w [4a [

—
Board 20: 4 Anschriften

N/S | PktNS | Score | PktOoW | O/W N/S | PkiNS | Score | PktOW | O/W

6/  4.0/420 200 8N av = 6 20/ -100 a0l 3N [4e -
2 4.0/420 4v = 2 4.0/600 3sA =

1 0.0/180 2SA | [+2 1 3v -2
5|  4.0[420 4v = 5 3sA | [+1

_———————————  ————— |
Board 21: 4 Anschriften Board 22: 4 Anschriften

N/S || PktNS | Score PktOWl o/w N/S | PktNS || Score PktOWl o/w

40| -420 200 4w [4a] |5 30| 620 30/ 4lo

30, 620  30f 8o

60 -170]  oofBlw (24 [+2

10/ 450 s0ldlw [4a [+ 60 170/ ool o

o N W N

I W N

10 -450 508w (44 [+1 0.0/ -850 60/ 8o

4v =
4v =
2y +2
4v +1

_ e — ™  —
Board 23: 4 Anschriften Board 24: 4 Anschriften

N/S | PktNS | Score | PktOW | O/W | N/S | PktNS | Score
7 0.0/ -100 3SA 7 5.0460 3sA | [+2
3 4.0(600 3sA | = 3 5.0 460 3sA +2
2| 40600 = ] 2| 20430 3sA | [+1
6 4.0600 El 6 0.0/ -100 2

e —————— ——— ——————— |
Board 25: 4 Anschriften Board 26: 4 Anschriften

N/S PktNS || Score PktOWl o/w N/S | PktNS | Score PktOWl o/w

Board 27: 4 Anschriften Board 28: 4 Anschriften

1 20/ -e80 . 4y, [+2 1 60620 00/ Bls [4a =
4 20 80| 40 8w [av] [+2 4| 20[500 a0l 8o [ssAa |5
3 20 680 . 5v [+ 3 00100 60/ 2w [2sA | [
7| 60| -150 00/ 8s [5s [3 7| 4.0/600 200 8N asa | [= |

N/S PktNS | Score PktOWl o/w N/S | PktNS || Score

1 30 -50 30 B/s [4a |1 1 10]  -460 3A | [+2
4 30 50 30/ 8/s [4a |1 4| 6050 4a -1

3 00| -100 60/ 2ls [4a |2 | 3 10| 460 35A | |+2
7 6.0”300 o.o’-‘o o Z| 7 4.0” -450“ 4a +1
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